12-1 Estimating Limits Graphically

Estimate each limit using a graph. Support your
conjecture using a table of values.

. 1 : :
2. lim [—1‘5 =2x +3x ]
e 2

ANSWER:

12
= ER*5-zH~3e301

H=z II b'f:iz
[-5, 5] scl: 1 by [-5, 15] scl: 2

x 1.99 1999 | 2 | 2001 2.01
IR 1172 | 11972 12.028 12.28
. X+3B
4. lim —
y—=3 _.".- ___-_l_
ANSWER:
-3

[P4=cm=3+ am:-:lz-hsi

el

w=+1.959 Y==z.9599z¢%
[-5, 5] scl: 1 by [-8, 2] scl: 1

x 201 | —2001 [ -2 —1.999 | -1.99
Tl 3008 | —3.0008 —2.99% | —2.993
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. XCOSX
6. lim —
=0 x4 x

ANSWER:
1

H=(RCosti) (e R)

w001 Y=.9990005
[-5, 5] scl: 1 by [-5, 5] scl: 1

x -001 | —0001 | o | 0.001 0.01
f(x) 1.01 1.001 0.999 0.990
5 X
8. lim —=
ey =2
ANSWER:
4
== AT (=2
r_"-_
= ae gt
W=3.958 ¥=2.9997C
[-2, 8] scl: 1 by [—2, 8] scl: 1
x 399 3999 | 4 [ 4001 4.01
Iyl 3998 3.9997 4.0002 4,003
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10. I_i_m

12.

14.

16.

18.

X 4x=20
_% T+
ANSWER:
-9
W I=RE+R=200/ (525D

"

/ *

¥=-y 858 ¥=*8.959
[—8, 2] scl: 1 by [—15, 5] scl: 2

x =501
) —o.01

-5.001 | =5
—9.001

—4,999
—8.999

-4.99
—8.99

Estimate each one-sided or two-sided limit, if it
exists.
dx
lim u
=t} > n

ANSWER:
4

3—x

lim

r—al" X=

ANSWER:
—0.1667
. |3.'r +1 |
lim

K-
4

X

ANSWER:

0

. X —x-358
lim ———

T

x+7

ANSWER:
-15
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20.

22.

24.

26.

28.

30.

I_ A=

X F

lim
] X—-
ANSWER:
10

L |'_ -|.
lim (v..-.r . 1.1.'+JJ

r=+0"

ANSWER:
3

) |.\'+I|
hm ——
vt y= =]

ANSWER:

does not exist

. : Ixifx<3
|ll'l'l..l‘[,'|.'}'l.\r|'|¢r¢_.fI[.'I.'}—{ . "

] X "‘.TEJ
ANSWER:
9

—x"+2 ifx<0

lim f(x)where f{x)= 2y .

x=s ifx=0

x

ANSWER:
2

For each function below, estimate each limit if it
exists.

Y|

:j{{wﬂl_'s 8 It 6
7o 4 4
!f A | - ,i’f \“*—-r-
B |—4 2 4 -8 |- 4 | Bx
F,
IS i
-8 -8
| |
lim fF{x)
¥ el ol
ANSWER:

—6
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32, lim g(x)

ANSWER:

does not exist

Estimate each limit, if it exists.

34. lim ———
5 %% =10x+25
ANSWER:

o0

36. lime*

ANSWER:

o0
38. “.'“f {.\'F -Tx' - 4.\'+1]

ANSWER:

—00

‘] .
40, lim * 1T ”"f‘“
r—+-3 A3
ANSWER:
does not exist
42, lim xcosxy
ANSWER:

does not exist

ANSWER:

does not exist

46. lim =13
== '3

2x+8

ANSWER:
2
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